Test |

7 Sept ¢
Br\(\é Ca\\ \G\ch
RAny music fearp! wgs.
?(7\@9(9. oo bloms o0 ebsite
Cuwrr  12-ls  Limis
2'2'.-1‘/) 6)0\7{\7(\(\,0\\ /TAQ/D%\“A\\Hg
50 Lxp/ Loy DeiVahees
2.5 ]m?)icﬁ— DiffererNahen
4.4-45 f),o \\}mm ) A%Sm\s
5_?_)5.‘-{ Ex Lo |~de (7\
SN J
ST V\\fﬁffe Tn\j DQ{\\M‘\\HS
o g’
Bassc Tr\j l/\‘l-fjﬁ\
5.9 Gnt'd
Ex: Fad DHE gy
)C'JVU\‘\-]Q
2L+ o

= 424+ + 9

= <‘)(+l \l‘\‘




_ g 2L+ ¥ Cl)k
Ol ) 4™

( U=+
(JU\:- d L
2+ = ¢

2= ()t ¢
[ = 2u+ b

_ SZU\%-C: ol
N
3w

= [ =

35T\ ERETAN

_—-P‘)

= |f\ 3w ] +
3

= | }31+(7H|)1\+ ZM,\UI Ay

5% # 17

j | C')L
O {1-x




Ch\f*;‘lzji\)ldot
2 du= 9E
ENCY
_ ZX o(m —
Jr-ur

NN UG

A Wond Be Teskd
H\W{/Lo\;c Foon Chon §

o _oC
H“’\W)Do'fﬁ Srne Cosh X :-*@*;_&
\ L -l
Hjﬁ/);o‘(t Sine 5;,\% L = e -4
2




(Rw k. J;X"‘ HMﬂ,‘qﬂ cablo

i

(
= @COS\W<2£ , a>o0

Tlne Slnau(% 1S m\bd\ N Cak/mrg,‘.

(COS%f)SJr\\f\Jc ) lee on
e )ﬁ\jf%/lrza\ (- tjl:]‘

HJE’/\(L g NANA< H

“hyperbalic funchns.

O\Tili [Cpf\mi} — SiAh X

d_O{DT (saht | = Cosn 2L

\SQO.S\f\)L d)k; 5I‘K\I’\DL +C
S S Al d = Gsht + C



—EX f{\/nO\ :jl

Ck\ 3—- SIr\lq 3(
j -—ﬂ CoS\er
b) = A rh St

3\1 )L’Z-[ siah S (s\]JV (cojhgﬂ(zi)

= 50 il S+ 2% esh S

£
o) &Coﬂ\%( dL




b) W& Ak 1 dx

= = gS*‘r\\o W CD\A
= = oshu+ C
= Lash iDrJrC,
$\ Basc Toog \f\%qm\s
o 3 J -
gSw(\)((}\)(f’ _ st +C
ngs)c Jy = s+ C

| tan Ay = !m(SGCBLl{—C_
gﬁeci dy = }n\Seci%ﬂtani'ﬁ-C_
T ebndt=—laleset [ +C

g csCX ol\L = -—(r\ tCS()( +CDJCL(_\,C_



jj-e(,lak av = 4o + C
jsedjwm AN = Sect+ C

fesetaty dit = —aset + C
fescivdt = —ettc



